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VI Semester B.Com. Examination, September 2020
(CBCS) (F+R) (2016-17 and Onwards)
COMMERCE
Paper — 6.6 : Elective Paper — IV : Cost Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in
English or in Kannada.

SECTION - A
QTN - R

Answer any five sub-questions from the following. Each sub-question carries
2 marks. (5%2=10)

CINR)TW3R 5 mﬁ—@%ﬁ@ﬁ B0, B ma’—:j,eiﬁ 2 203N,

1. a) What is contribution ?
ZRTEIN H0TTe 9

b) Define standard costing.
‘%@_')% ﬁzisaﬂ@ aﬁa’% 39, TR,

c) State any two objectives of budgetary control.
‘B00ME T3, A030ZET T CIRYTIVTIR QO m@eéﬁ#@&e@.

d) What is meant by Material Cost Variance ?
WA a”zi %@Sﬁﬁodéem?

e) What is cost reduction ?
ﬁzajd RS OTTERD ?

f) Give the meaning of activity based costing.
233638 ST08 13, QEIF O L2BE DR,

g) What is a sales budget ?
ST LIOTIVU) T, 0TI 7

P.T.O.
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SECTION -B
TN - W

Answer any three of the following. Each question carries 6 marks. (3%6=18)
BRFYTRETR Tt BIAST GUBOR. T F37i 6 wosred.

2. From the following information calculate.
a) Profit volume ratio
b) Fixed costs
c) Sales volume to earn a profit of ¥ 40,000
Sales ¥ 1,00,000
Profit ¥ 10,000
Variable cost 70%

23 PN =38S00T

a) ooy RS, ROTRI

b) %d ﬁa'?;

c) T 40,000 eo23 B3 BRI FRZ ForEIRROWD.
=rooes I 1,00,000
ey ¥ 10,000
wBeRn 3, 3¢ 70.

3 The standard material required for producing 100 units is 120 kgs. A standard
price of ¥ 0.50 per kg is fixed and 240000 units were produced during the
period. Actual materials purchased were 3,00,000 Kgs, at a cost of X 1,65,000.

Calculate :

a) Material cost variance

b) Material usage variance.

100 odaeRs @Ry S03RdRLd 120 &.dpe. &% ARE3ON, WemrdZs. éau; 3e3 8.3t i
% 0.50 20m> IR0 IRBCPAT RoPY 8 SRHDHY, 240000 CLAVEFNVS) Spcplary
RRBRCWSD. R[N 3,00,000 e, mRPATE X 1,65,000 19n 30w
RO RENRTONT.

B3 DTONYOT

a) AN, aﬁzés BB

b) =N wE a’%@%ﬁ B0B0&EO00.
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4. Prepare a flexible budget for production 9000 units @ (90% capécity) on the
basis of following information

Production at 50% capacity 5,000 units

Raw materials ¥ 75 per unit

Direct labour T 45 per unit

Direct expenses % 20 per unit

Factory expenses ¥ 60,000 {40% Fixed)
Administrative expenses ¥ 40,000 (50% variable)

BINT QITMPos 9,000 cHRJEFNS (Sedmm 90) 2,033 230 SEVeVore aa’é%od:aﬁg{ 3C3OR.
NS F8B2 50 3 T FTE 5,000 cREF R

AN 3323, W3 0RIF R 75

363 800 B8 R T 45

368 0edrrisd F ceerR T 20

TE00F S eFNEd T 60,000 (40% 3%}0’)

SBEE DDFTIED T 40,000 (50% 233)

5. Briefly explain the limitations of Activity Based Costing (ABC).
WD $508 3, (ABC) B Sn@sonead ROBFZaTDN DSOR.

6. What are the essentials for success of cos"c control ?
R, WD AT Bezorides Boog, eo3nwYR) 2

SECTION -C
NN - 2

Answer any three of the following. Each question carries 14 marks. (14x%3=42)
OIRFRTTR Tt FINer Cugor. B TI1 14 eosrish.

7. The Woodiand Shoe Company sells different styles of ladies chappals with
identical purchase cost and selling price. The company wants to open another
shop which would have the following expenses and revenue relationship.

Selling price per pair ¥ 300
Variable cost per pair T 195
Salesmen’s commission (variable) X 15 per pair
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Fixed expenses includeds — Rent ¥ 60,000
Salary ¥ 2,81,000
Advertisement ¥ 79,000
Sundries ¥ 30,000

You are required to calculate :

a) Annual BEP in units and sales value.

b) Profit or loss of the stores if 35,000 pair are sold.

T Y05 R BoBAOI0 2,055 ZRTOOD VA Tl Tovelnbloelous) zﬁe—;i@r{@d& aimdagd%
02RO tﬁ*oﬁ@o:bc?i;=L 300300 AF 0. ks BN FPNT0SI,
RRODE3 3, (2,0 eedr) T 300
WBSOMNE B3, (2o0TD @R3n) X 195
D08 DR (udwrbd) (20T we3r) X 15
Egpd da'a; ~ win T 60,000
Rows ¥ 2,81,000
BT ﬁzg’d % 79,000
333 =X 30,000
T3 'c“%;fﬁdaé)dqﬁdg{ FOWIEGEOWD
a) TOAFT #ab%é;% WOTD CRREFTE, ESE o]
b) 35,000 23 350 Rnovestoms e/ SR -

8. Prepare a flexible budget from the following information for 12000 and 15000
units. For production of 10000 units, the expenses incurred are as follows :

Particulars Per unit
)
Direct material 60
Direct labour 30
Variable O. H. 25
Fixed overhead (% 1,50,000) 15
Variable expenses (Direct) 5
Selling expenses (10% fixed) 15
Administrative expenses (Z 50,000 fixed for all level of production) 5
Distribution expenses (20% Fixed) 5

Total cost 160
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12000 onedez ab:d»’_on 15000 clnernen 303 eﬁoaba’ggcma’)aﬁi BOBIGBOD. T3
FSNS dz'g’dﬁ% 10000 cheernen ﬂe@t%ﬁd.

0T et R

Q=T ®)
3¢ émw TN, 60
3T 3RS 30
WRRMORN dz'g’d 25
48383 (% 1,50,000) 15
LTI ST dzaa’& 5
TRTR 3%, (10% 20) 15
QR BOBTLR_ e SR 3%3,(X 50,000) 5
cletson) aﬁaajd (20% :-*?ao’) 5
28D o33 160

ed 3

9. The information regarding composition and the weekly wage rates of labour
force engaged on a Job scheduled to be completed in 60 weeks are as follows :

Standard Actual
Workers No.of | Weekly wage No.of | Weekly wage rate
workers | rate per worker | workers per worker

Skilled 150 120 140 140
Semiskilled 90 80 60 100
Unskilled 120 60 160 40

The work was completed in 64 weeks.

Calculate :

a) labour cost variance
b) labour efficiency variance
c) labour mix variance.
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B) Moonlight Company Manufactures two products A and B, using common
facilities the following cost data for a month are presented to you :

Product ‘A’ Product ‘B’

Units produced 1000 2000
Direct labour hours per unit 2 3
Machine hours per unit 6 1.5
Set up of machines 15 50
Orders 18 70

Machines activity expenses X 3,00,000.

Set up related expenses % 30,000.

Expenses relating to orders ¥ 35,000.

Calculate the overheads per unit absorbed using activity based costing
approach.

AR ﬁ‘voa;jsﬁe#dgt Be3ReNR FoRT S B0 TR TERRF N0 A 203 B odoaﬂ;%
UBIORIZT, LoD elelatery ﬁz:;;’ﬁ%b 33 FYTOROS.

‘A’ s ‘B Ioege

UBIOAT 03RRI 1000 2000
363 3RO Rotdned & chedFR 2 3
B3 0N T 03008, RoENEd 6 s
oo mTI 5 50
e3TeBND | 18 70

o3 1038 s0tde T 3,00,000.

m@‘@’zﬁﬁ B02000% 0rne T 30,000.

3T3eBRER BozoHuE e ned T 35,000.

B3 0eRErR seen FNER) ABC Z0R3), 2usmodnen S0Ex3eRE00.




